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TP6006 S HEHEIEE 18 tH 6 OkmE T E] 40200
TP6007 Y HENEIEE 18 tH 7 0knE T [E] 43950
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TP6009 Y HENEIEE 18 tH 9 0knE T [E] 51350
TP6010 E P EhEES 18 tH 100kmET &} 55040
TP6011 ¥ EBhEEE 18 tH 110knmET [E] 57730
TP6012 B R EhEES 18 tH 120kmET E] 60340
TP6013 W EBhEEE 18 tH 130kmET [E] 63050
TP6014 B R EhEES 18 tH 140kmET =] 65740
TP6015 S E B EEE 18 tH 150kmET ] 68320
TP6016 EH EEhEESE 18 tH 16 0kmET E] 71020
TP6017 S E B e EE 18 tH 17 0kmET [E] 73650
TP601S e EEhEES 18 tH 18 0kmET E] 76300
TP6019 S EBhEEE 18 tH 19 0kmET [E] 78970
TP6020 E EEhEEE 18 tH 200kmET &} 81600
TP6171 BB HEIEE 2t # 20knfgNE%E  (200km & 8 2 500kn = T) =] 1790
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TP6175 ¥ B @ EIESE 10 t #1 20knfg &% (200km & 8 2 500kn = ) E] 3240
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TP6200 HIKENHE (JLJu - f&@lf - FEAR - BIRE) 2 t i 5] 540
TP6201 MIXEIHE (EJuM - f&hd - REAS - JEIRE) 4 t i ] 650
TP6202 HIKEHE (JLJu - f&@lf] - FEAR - BIRE) 6 t i 5] 740
TP6203 MIXEIHE (EJuM - f&hd - REA - JEIRE) 8 t i ] 830
TP6204 HIKENHE (LI - f@hd] - REAR - FERE) 10 t H [=] 830
TP6205 HIKEHE (LI - f@ld] - AEAR - JEIRE) 12 t & E] 930
TP6206 HIKENHE (LI - f@hd] - REAR - FERE) 14 t H [=] 1040
TP6207 HIKEHE (LI - f@ld] - AEAR - JEIRE) 16 t & E] 1140
TP6208 HIKENHE (LI - f@hd] - REAR - FEVRE) 18 t H [=] 1240
TP6209 HIKEHE (LI - f@ld] - AEAR - JEIRE) 20 t 5 [=] 1340
TP6210 HIKEHE (LI - f@hd] - REAR - FEIRE) 22 t H [=] 1440
TP6211 HIKEHE (LI - f@ld] - AEAR - JEIRE) 24 t &5 [=] 1540
TP6212 HIKEHE (LI - f@hd] - BEAR - FEIRE) 26 t H [=] 1640
TP6213 HIKEHE (LI - f@ld] - AEAR - JEIRE) 28 t H =] 1740
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